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Efficiency and pT recontructed vs generated, Separation based in pulls
of Pull= (1/pT(Reco)- 1/pT(Gen)/Err (1/pT))

Green : Pull< 1.0
Blue Pull < 3.0
Red ones : Pull >3.0
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Tranverse Momentum Generaled vs Heconstructed |
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Efficiency and pT recontructed vs generated, Separation based in pulls
(1/pT(Reco)- 1/pT(Gen)/Err (1/pT))

of Pull =
Green
Blue

: Pull< 1.0

Pull < 3.0

Red ones : Pull >3.0 (This represent the problem)
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pT Generated {GeV/c)

Make the resolution function in bin of pT but using the 1/pT
Res = (1/pT(Gen)- 1/pT(Rec))

pT= 95; 1/pT =0.0105263

P%F(pT) = sigma(l/pT)*(pT) *100 = 5.57364
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To do:

Cut in the significance for all other parameter for this make the
resolution 1n all the other an study the correlations.

Use vertex contsraint for DCA.
Make a contamination table the i1dea is to measure the quantity of
tracks that migrate from on pT region to other an can not be accounted

for from his error in pT.

Once the table 1s done use a realistic pT distribution.
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